TAO NAN SCHOOL
Primary 4 Mathematics Continual Assessment - 2004

Name : ) Date 1 25 Auqust 2004
Class: Praimary 4 . Durabtion 1 1h 45 min
Parent's Signature: ' Marks: - 7100

Section A (40 marks) -
Questions 1 to 20 carry 2 marks each. For each question, four aptions are given.

One of them is the correct answer. Make your ¢hoice {1, 2, 3 o 4). Shade the
correct oval on the Optical Answer Sheet. '

1. What is the missing number i the box?
28 493 = 20000 + 8000 +| #9043
(1) 4000
(2) 400
(3) 40
4y 4
2. Express 12.4 as a fraction.
i
1 {2~
(1 2

>
St
X
NI
|

@) 122
IS 1
4y 12 -
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_ Y L
EXDIESS <o @3 g decimal,

U

)y 0400
AR R
(3 0@
4% 1080

in the figure beiow, which ine is parsilel to AD?

Yy AB
2y  Bb
3y BF
14} =G
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How many angles inside the figure below are greate: than 807

(1)
(2)
3)°
(4)

Wk =

How many hundreds must be added to 3 456 to make 11 4567

1y ©

(2) 60

(3 600

{4y 6000

7599 is ____when rounded off w: the nearcst ten,
(1) 7500.

(2) 7590

(3} 7600

4y 7610
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B. The grapnr showz the number of cakes soid at a shop.

Sat

What is the difference betweon the maximum and minimum number of cakes
sold?

(1) e
(2) =20
(3) 30

{4) AG

9, Which is the best estimate for 127 x 43 2

My  t0x
(2) 130 x5
(3) 120w di

\ - : . 3 .
0. There ara 40 mangors in & baskel. 5= of there are nipe. How many
¢ - 00 )

&

{1y 8

(2} 5
3y 24
4y 25



11,

12

In the number line below, the missing fraction is

0.31s made up of

(1)
(2)
(3)
{4

()

(2)
(3
(4)

3000
300

3
30

7.989

. 7.966

7.696

7.669

| | |
| | | B
1 3 L Lo |
4 g Y L;_’
iy 2
{1 5
@
3 3
(3) 4
@ -

. hundredtps,
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1h,

N
-~

Albert houghit 3 places fn"sb(‘\n One piece was 65.4m long. The other hwo
pieces were each 5.59m long. Find the total length of the 3 pieces of
rinboi,

e e W

dn a7 G e
[N U N N (N

5 N fo o

G N tm? i
Oy L G
[l SEUA BN

Round oft 258.79 to 4 decimal place.

<

v]

()
{2)
(3)
)

e

¢

6
B
&
B

Ny DS R Ty
5 o Ch 0
9

R

Divide 21.81 by & . Which digitis in the hundredths place?

Yy 0
F =
2y 2
{3y 3
)
nthe rectangle below . o2 k= __ .
//1
\Ivf
2
/\j.
gt S
P"““'\’ ;\..
H N
S
{2y  d4o®
{3) 83
(4) 1387
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19.

L x Lt= ALt

{:} and LX are digits.  The Z_\ represents

(1)

6
) 5
3y 3
(4 4

Express 18 minutes as a fraction of 1 hour.
Give your answer in the simplest torm.

3
@ 5
(3) io
(4) %
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Squares, nof drawr to scale, hag the

<

Which of the follow'ng

20.

12 ¢m

e

o —

(1)

et}

o~

et

16 om

B e e g

\A« -, -+ ——yn

Bt TR A TRAT IR ANIL <UD T VAN LR RV M Al K AR AT AT ALY e e
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Name :

Section B @ (40 marks)

Questions 21 to 40 cairy 2 marks each. Write youi answers i the boxes
provided. Give your answers in the units stated. Show your working whera
possible. :

21, Amange the foliowing numbers in ascending order.

12085 12850 12058 12508

&

¥ -

Ans:

22.  There are tens in the product of 45 and 26.

ANS: !
- 1
23, Complete the number pattem .
802, 696 58,
! .
Ang |
b -

24.  Divide 3 by 7. Round off your answer to the naarest tenth.

Ans:
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25, Uraw ahine parailel io EF through the point R,

7
Fd
’h”
2
>
/"/
.-/Iv
A v
~ ~
e -
7 . . s
B N
~ - ’-/ T
e
./'/
\P’/ ’
v/
. e

26,  Look atthe diagram: helow,

M et e o

7
. . . i Ve "
John walks from A te J. Atthat point. he makes 2 — turn [o his right and walks to

. ' ¥ . ) - ° .
thie end of the line, Thern he makes a —‘« turn to his left and runs o the end of the
h -

line., Where wili he be-at 2
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28.

The table below shows the number of bavs and girls in G classas,

| T
i i . {
Classes SE. o 3F 1 G

. i t
e a |
Number of boys 20 1 19 S
SR ARSI B
! |
Number of girls - 2 23 2
! L !

If there are 119 pupiis in the three classes, how many boys are therain
class 3G 7 '

B.08x 7= . Express your answil as a gecimat

There were 32 boys and 3 times as mainy giris in the schoal camp,. How
many more girls than bays wera there?

Ans

i i
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=

The cum of twe numbers is 13, The product of these fwa numbers js 40,
What are the bwo numbers”?

Ans ] . . end

1
!
}
!

54 o

o S e o . _
31, Fndthevalve ot o »;fa . Give your answer in the simplest form,

3 B
;‘:\I", G

_—

H
K
et N

s 24 24 o4

[
N

What is the misaing number in the box?

Ars s ]‘ ]

mirard

~2

3%, Abakerbought 12 kg of flour. She used -- of the flour o make bread.

~

How rueh four did she usa?

Ans r g
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34.

[S%4
(o7}

37.

rhere was EC orange juice in a jar. Carl drank = Zof the juice.
. 3

How much jLJI(‘-—" was leftin the jar?

i — i
Ang ! . S
t
Subtract 6 tenths from 280.66°, The answeris
=1

=
n

dollar.

©4

(
Ans :i . .

Tha mass of a packet of flour s 5.5kg. Find the mass of 5.5
flour. '

Pt

Paga 13nflv

(ch packets of




38, intha sum helow, Y rapresents a digit. What is the digit 7

e
4 &
4 %
L .
o

39, The figure is rade up of identical squares. How many.squares must b

shaded to show that = of ihe figure is nof shaded?

Ang

A7

|
S
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Section C { 20 marks) ’

Questions 41 to 45 carry 4 marks each. Show your working ant statements
below each guestion and write yotr answers in the spaces providad,

41, Joehad 430 stamps. He gave them all to Tom and Wilson. Wilson
received 150 more stamps than Tom, How many stamos did Wilsso
receive? -

Lo
|
A

age 150f19



X

.
43 ‘ of Raymond s mass is 72kg.

fa)  Whatis Raymond's mass?
if he loses 25kg 35¢ , how heawvy is Raymond?
Give your answer in kg and g.




43. James has 5 times as much money as Rvan. If Ryan has $4.60 less than
James, how much money do the twe boys have altagether?

JANS I

=
=
na
%]
~I1
o}
~ry
ot
(5




&4, Hoendie fse 8 total of 16 twenty-cent coins and fifty-cent coins. Tne total

e B

vatue of the coins is $5. How many fifty-cent coins are there?

Ans: . .
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45.  Johnny bought 5 pens and 6 pencils for 510.80. 17 8 p'er.:s and 6 penciis
cost $14.40, Find the cost of 1 pencil. 1

~ End of Paper ~ ;
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ot 2 11, 1

02. 3 12. 4

02, 3 13, 4

04. 3 14. 1

05. 3 15, 2

06. - (2) i6. 1

07, 3 17. 2

05. 4 18. 3

09. 1 18, 2

10. 4 20, 3

21) 12058, 12085, 12508, 12830

22) 117 teus 41) 290 stawgs
23) 4.84- : 42) =m) 110 kg
24) 2.4 b)Y 94 kg YES
25) S 43) % 6.020

26) H . ‘ ‘ 44) 6 fifty-—cent
27) 1B boys 45) 2% cents

32) 7
33) ©
34) 2/9

39) 8 squares

P
<
N
[ 8]
Lt




